
Jack
Istruzioni di montaggio

Assembly instructions
Instructions de montage

Montageanleitung
Instrucciones de montaje

Инструкции по сборке мебели
組み立て説明書





Jack

3



1x1x

1x

1x

2x4x

12x 1x
Ch5

1x
Ch6

2x
MM8x30

4x
MM12x50

24x
TPS EI
M8x20

4x
TPS EI
M10x25

1x

1x

4x

4



1x
TPS EI
M10x25

Ch6

2x
MM12x50

2x

4x

5



1x
MM8x30

2x

6



2x 2x Ch5

2x
TPS EI
M8x20

7



Ch5

3x
TPS EI
M8x20

8



Ch5

2x
TPS EI
M8x20

2x

9



Ch5

2x
TPS EI
M8x20

2x

10



Ch5

2x
TPS EI
M8x20

11



Ch5

2x
TPS EI
M8x20

12



Ch5

1x
TPS EI
M8x20

2x

13



2x

8x

14



Jack with tables

15



1x1x

1x

1x

2x 4x

12x 1x
Ch4

1x
Ch6

2x
MM8x30

4x
MM12x50

24x
TPS EI
M8x20

4x
TPS EI
M10x25

1x

1x

4x

1x
Ch5

2x
2x

2x
TPS EI
M8x60

2x
TCL EI
M5x50

16



2

1Ch6

2x

17



1x
TC EI
M5x50

Ch4

2x

18



2x

19



1
Ch6

2x

20



Ch6

2

2x

SERRARE
TIGHTEN
SERRER
ANZIEHEN
APRETAR
ЗАКРУЧИВАТЬ
固定する

21



SERRARE
TIGHTEN
SERRER
ANZIEHEN
APRETAR
ЗАКРУЧИВАТЬ
固定する

Ch6

1x
TPS EI
M8x60

22



Max 15 Kg

Max 15 Kg

23



© Poltrona Frau reserves the right to modify the products and the components in this technical sheet, without any prior notice.
Company with certified Quality Management System in accordance with ISO 9001, certified Environmental Management System in accordance with ISO 14001, certified 
Occupational Health and Safety Management System in accordance with BS OHSAS 18001, certified Chain of Custody System in accordance with Forest Stewardship Council® 
FSC-STD-40-004 (FSC-C153281).
Poltrona Frau S.p.A. a socio unico Via Sandro Pertini 22  62029 Tolentino MC  Italy Tel. +39 0733 909.1 Fax +39 0733 971600 www.poltronafrau.com
Company subject to management and co-ordination of Haworth Italy Holding S.r.l.

re
v. 

01
_2

02
0_

12
99

81


